
RESOLUCIÓN DE ECUACIONES DE PRIMER GRADO:  

Ejercicio nº 1.- 

Resuelve las ecuaciones siguientes: 

 

 

  

  Solución:   

 

4x − 6 − 5x − 5 + 6x = 20x − 80 

4x − 5x + 6x − 20x = 6 + 5 − 80 

 

    

 

25x + 75 − 4x + 12 = 3x − 1 

 25x − 4x − 3x = −1 − 75 − 12 

 

   

 Ejercicio nº 2.- 

Resuelve las siguientes ecuaciones: 

  

  

  

  

 



Solución:   

 

 10x − 25 − x − 1 + 9x = 30 

 10x − x + 9x = 30 + 25 + 1 

  

  

   

 Ejercicio nº 3.- 

Resuelve las siguientes ecuaciones: 

  

 

  

 Solución:   

 

15x + 30 − 10x − 30 = 6x + 30 

15x − 10x −6x = 30 

−x = 30 → x = −30 

 

6x − 6 − 9x + 15 + 2x = −12x − 36 

6x − 9x + 2x + 12x = −36 + 6 −15 

 


